Universal Saddle Bag Accessories List

(1) Fixed iron 4 piece (2) short rubber 14 piece (3) long rubber 2 piece

TTTT

(4) M8 X 12 screw 4 piece (5) M6 X 50 screw 1 piece
e -‘Ir' '!m .1 Q @ @ ‘g‘ "é. ‘Q'-‘ FQ‘
Fh ﬁ 1 See
' 00
(1) M6 X 30 screw 4 piece (8) M6 round steel 8 piece (9) M6 Nuts 4 piece

Il (W W W

(10 Long nuts 1 piece (1) short nuts 7 piece
end
end
Left Right Left v Right
(12 Left Side Shelf A 1 set (13 Left Side Shelf B 1 set

end end
Left J Right Left v Right

(149 Right Side Shelf A 1 set (15 Right Side Shelf B 1 set (6) Whole Shelf



Universal Saddle Bag Installation Guide

Left Side

il

v 4
o

©+@+2H1
+QHI3HIHD)

Right Side

N
oy }T E Co Jli
@+@+@H1)

+HDH14)

P

E
@+@+@+i1

| @560

D+@+DHI
+HH5H®



